T | Moltiplica i decimali per potenze negative di dieci

Nome: Data: Punteggio:
4781, 8 x 0.0001 = 9020, 5 x 0.0001 =
7375,2 % 0.01 = 3797,7 % 0.001 =
7588, 8 x 0.01 = 2783 x0.1 =
4551,7 % 0.0001 = 7673,5%x0.1 =
8674,7 x 0.001 = 8371,7 x 0.0001 =
7540, 5 % 0.001 = 7046,4 x 0.001 =
8246, 3 x 0.0001 = 6352,6 % 0.1 =
7353,4 % 0.0001 = 9476, 6 % 0.001 =
9036 x 0.0001 = 9352,2 x0.001 =
6801 x 0.1 = 4118,6 x 0.1 =
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i Moltiplica i decimali per potenze negative di dieci

Nome: Data: Punteggio:
4781, 8 x 0.0001 = 0.47818 9020, 5 < 0.0001 = 0.90205
7375,2 % 0.01 = 73.752 3797,7 % 0.001 = 3.7977
7588, 8 x 0.01 = 75.888 2783 x 0.1 =278.3
4551,7 % 0.0001 = 0.45517 7673,5 % 0.1 = 767.35
8674,7 x 0.001 = 8.6747 8371,7 x 0.0001 = 0.83717
7540, 5 x 0.001 = 7.5405 7046,4 x 0.001 = 7.0464
8246, 3 x 0.0001 = 0.82463 6352,6 % 0.1 = 635.26
7353,4 x 0.0001 =0.73534 9476,6 < 0.001 =9.4766
9036 % 0.0001 = 0.9036 9352,2 % 0.001 =9.3522
6801 x 0.1 = 680.1 4118,6 x 0.1 =411.86
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